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10_11 7 [763] addieren - einstellig, bis 40
Zusammenzahlen von natiirlichen Zahlen
1 3 5 2 4 3 4
+|1 + |1 +10 +14 +|5 +|4 +14
+|7 + |7 +|6 +|2 +|2 +|9 +|6
+|8 + |1 +|2 +|7 + |4 +|7 +|3
+|6 + |4 +|9 +|5 + 3 +|9 +14
3 8 2 0 0 6 5
+|3 +|9 +|3 +|2 +|9 +|4 +|6
+|6 +|9 +|1 +|7 + |4 +|6 +|3
+14 +|5 +|6 +|1 +8 +|4 +10
+|1 + 4 +19 +|6 + |7 +|6 +|2
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28| 8|8|8|8| 8| 8| 8|8|8 %1 % E é é g % % g % § § % ‘% § % § Losung
10_11 7 [763] addieren - einstellig, bis 40
Zusammenzahlen von natiirlichen Zahlen
1 3 5 2 4 3 I
+1 +|1 +0 + 14 +|5 + 14 + 14
+ |7 + |7 +|6 +|2 +|2 +19 +|6
+|8 +1 + |2 + |7 + (4 + |7 +3
+|6 +4 +19 +|5 +(3 +19 +14
2[3 ] 1[6 2]2 20 1[8 32 2[4
3 8 2 0 0] 6 5
+|3 +19 +|3 +|2 +19 +4 +|6
+|6 +19 +1 +|7 +4 +|6 +|3
+4 +|5 +|6 +1 +|8 +4 +0
+1 + (4 +19 +|6 + |7 +|6 +|2
1[7] 3[5 2[1 1[6 2[8 2[6 1[6
A
Zahle die gedruckten Ziffern: 4 = /@/
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